[ 1+ Test Practice J (1) 3 minutes

Non Verbal Test

Follow the instructions below to find the best answer to each question.

Example 1. Find the pattern on the right that best fits into the sequence on the left
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The answer is C. The arrow rotates 90° clockwise going left to right.
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Example 2. Find the pattern which does not fit with the others.
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The answer is C. The other patterns have two black and one white shape.

Exarnple 3. Find the pattern which best fits the space in the grid on the left.
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The arnswer is B. The arrow rototes and changes colour horizontally and vertically.

Find the pattern on the right that best fits into the sequence on the left
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Non Verbal Test

Find the pattern which does not fit with the others.

Find the pattern which best fits the space in the grid on the left.
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Answers
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